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QUESTION 1

Drag the server type from the left onto the maximum number of capacity drives on the right. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

How many DIMMs are supported per memory channel in the Cisco UCS M5 server? 

A. 2 

B. 1 

C. 8 

D. 4 

Correct Answer: A 
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QUESTION 3

Which three functionalities are provided by VAAI? (Choose three.) 

A. When a native snapshot is requested, the request is processed by the hypervisor. 

B. Missing pieces of data are re-created from the remaining nodes in service 

C. Cisco HXDP creates a file system native snapshot which is registered in the vSphere. 

D. VAAI performs caching, deduplication: and compression of data. 

E. Instead of the snapshot being performed in hypervisor it is offloaded to Cisco HXDP. 

F. VAAI uses RAID to consolidate disks into a shared data platform. 

Correct Answer: ACE 

 

 

QUESTION 4

Which three features for NVMe transfer protocol are valid? (Choose three.) 

A. Uses PCIe interface 

B. Streamlined commands for fewer CPU instructions 

C. More and deeper queues 

D. Requires 10 controller 

E. Increases memory speed for more lOPs 

F. Improves SAS and SATA speed 

Correct Answer: ABC 

 

 

QUESTION 5

Which two processes does Disk Failure initiate? (Choose two) 

A. The affected cluster is marked as unhealthy and placed into standby mode 

B. If the replication factor is sufficient for the failure, the system is marked as unhealthy but remains operational 

C. Distributed pooled data is migrated off nodes to master data store. 

D. Performance is almost unaffected Sets 1-minute timer until self-healing starts. 

E. Self-healing mode is initiated and data replication factors applied. 
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Correct Answer: BD 

 

Latest 700-905 Dumps 700-905 Practice Test 700-905 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 700-905 Dumps | 700-905 Practice Test | 700-905 Braindumps                                4 / 4

https://www.leads4pass.com/700-905.html
https://www.leads4pass.com/700-905.html
https://www.leads4pass.com/700-905.html
http://www.tcpdf.org
https://www.leads4pass.com/700-905.html
https://www.leads4pass.com/700-905.html
https://www.leads4pass.com/700-905.html

